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# 6,110
B 13 5940 FRENE
= %8 170
# 8,490 6,110
BT 8,250 5940 &5
= %8 240 170
# 10,860 8,490 6,110
B 10,560 8,250 5940 fif I
= %7 300 240 170
# 12,900 10,860 8,490 6,110
BT 12,540 10,560 8,250 5940 2R
= %7 360 300 240 170
# 12,900 10,860 8,490 6,110 6,110
B 12,540 10,560 8250 5,940 5940 MR IR
= %7 360 300 240 170 170
# 12,900 12,900 10,860 8,490 6,110 6,110
BT 12,640 12,640 10,660 8,250 5,940 5940| Bij 4B
= %7 360 360 300 240 170 170
# 14,930 12,900 12,900 10,860 8,490 8,490 6,110
BT 14,620 12,640 12,640 10,560 8,250 8,250 5940 Z{RH
= %7 410 360 360 300 240 240 170
# 16,630 14,930 12,900 10,860 10,860 8,490 8,490 6,110
BT 16,170 14,620 12,640 10,560 10,560 8,250 8,250 5940| FBE)
= %7 460 410 360 300 300 240 240 170
# 16,630 14,930 14,930 12,900 10,860 10,860 8,490 8,490 6,110
BT 16,170 14,620 14,620 12,540 10,660 10,660 8,250 8,250 5940 & R
= %7 460 410 410 360 300 300 240 240 170
# 18,330 16,630 16,630 14,930 12,900 12,900 10,860 10,860 8,490 6,110
BT 17,820 16,170 16,170 14,620 12,640 12,540 10,660 10,660 8,250 5940 J|| 38
= %7 510 460 460 410 360 360 300 300 240 170
# 19,690 18,330 18,330 16,630 14,930 14,930 12,900 12,900 10,860 8,490 6,110
BT 19,140 17,820 17,820 16,170 14,620 14,620 12,640 12,640 10,660 8250 5940 K B
= %3 550 510 510 460 410 410 360 360 300 240 170
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B | DA CPal=
# 17,420
R 16,930| EPhE
=& 490
# 24,200 17,420
BT 23,520 16930 + &5
=& 680 490
# 30,960 24,200 17,420
B 30,100 23,520 16930 fig )l|
= %7 860 680 490
# 36,770 30,960 24,200 17,420
BT 35,740 30,100 23,520 16930 2R
= %7 1,030 860 680 490
# 36,770 30,960 24,200 17,420 17,420
B 35,740 30,100 23,520 16,930 16930 M IR
= %7 1,030 860 680 490 490
# 36,770 36,770 30,960 24,200 17,420 17,420
BT 35,740 35,740 30,100 23,520 16,930 16930| B 4B
= %7 1,030 1,030 860 680 490 490
# 42,560 36,770 36,770 30,960 24,200 24,200 17,420
BT 41,390 35,740 35,740 30,100 23,520 23,520 16930 {RH
= %7 1,170 1,030 1,030 860 680 680 490
# 47,400 42,560 36,770 30,960 30,960 24,200 24,200 17,420
BT 46,090 41,390 35,740 30,100 30,100 23,520 23,520 16930| FB3E)
= %7 1,310 1,170 1,030 860 860 680 680 490
# 47,400 42,560 42,560 36,770 30,960 30,960 24,200 24,200 17,420
BT 46,090 41,390 41,390 35,740 30,100 30,100 23,520 23,520 16930 &H R
= %7 1,310 1,170 1,170 1,030 860 860 680 680 490
# 52,250 47,400 47,400 42,560 36,770 36,770 30,960 30,960 24,200 17,420
BT 50,790 46,090 46,090 41,390 35,740 35,740 30,100 30,100 23,520 16930| || 38
= %7 1,460 1,310 1,310 1,170 1,030 1,030 860 860 680 490
# 56,120 52,250 52,250 47,400 42,560 42,560 36,770 36,770 30,960 24,200| 17,420
BT 54,5650 50,790 50,790 46,090 41,390 41,390 35,740 35,740 30,100 23520 16930| &k B
= %3 1,670 1,460 1,460 1,310 1,170 1,170 1,080 1,080 860 680 490




SBUS<E EHIRESESHNES - IRTESLERE

B | DA SPal=
# 33,000
R 32,080 EEEhE
=& 920
# 45,850 33,000
BT 44,550 32080 &5
=& 1,300 920
# 58,650 45,850 33,000
B 57,030 44,550 32,080 fi4 )l
=8 1,620 1,300 920
# 69,660 58,650 45,850 33,000
BT 67,720 57,030 44,550 s2080| £ R
=% 1,940 1,620 1,300 920
# 69,660 58,650 45,850 33,000 33,000
B 67.720 57,030 44,550 32,080 32080 MR
=% 1,940 1,620 1,300 920 920
# 69,660 69,660 58,650 45,850 33,000 33,000
BT 67.720 67,720 57,030 44,550 32,080 32,080 Hij 4B
=% 1,940 1,940 1,620 1,300 920 920
# 80,630 69,660 69,660 58,650 45,850 45,850 33,000
BT 78410 67,720 67,720 57,030 44,550 44,550 32080 RIRH
=% 2,220 1,940 1,940 1,620 1,300 1,300 920
# 89,810 80,630 69,660 58,650 58,650 45,850 45,850 33,000
BT 87.320 78410 67,720 57,030 57,030 44,550 44,550 32,080| POiE}
= %7 2,490 2,220 1,940 1,620 1,620 1,300 1,300 920
# 89,810 80,630 80,630 69,660 58,650 58,650 45,850 45,850 33,000
BT 87.320 78410 78410 67,720 57,030 57,030 44,550 44,550 32080 & IR
= %7 2,490 2,220 2,220 1,940 1,620 1,620 1,300 1,300 920
# 98,990 89,810 89,810 80,630 69,660 69,660 58,650 58,650 45,850 33,000
BT 96,230 87.320 87.320 78410 67,720 67,720 57,030 57,030 44,550 32,080| J|| 38
= %7 2,760 2,490 2,490 2,220 1,940 1,940 1,620 1,620 1,300 920
# 106,330 98,990 98,990 89,810 80,630 80,630 69,660 69,660 58,650 45,850| 33,000
BT 103,360 96,230 96,230 87,320 78410 78410 67,720 67,720 57,030 44550 32,080 Kk B
= %3 2,970 2,760 2,760 2,490 2,220 2,220 1,940 1,940 1,620 1,300 920
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# 5,650
B 5400 EEhE 1 73 J%
=8 150
# 7,710 5,650
BT 7,500 5400 &5
=8 210 150
# 9,870 7,710 5,650
R 9,600 7500 5400 f4 )l
=4 270 210 150
# 11,730 9,870 7,710 5,650
BT 11,400 9,600 7500 5400 2R
=4 330 270 210 150
# 11,730 9,870 7,710 5,650 5,650
BT 11,400 9,600 7,500 5,400 5400 @ R
=4 330 270 210 150 150
# 11,730 11,730 9,870 7,710 5,650 5,650
BT 11,400 11,400 9,600 7,500 5,400 5400| B 3B
=5 330 330 270 210 150 150
# 13,580 11,730 11,730 9,870 7,710 7,710 5,650
BT 13,200 11,400 11,400 9,600 7,500 7,500 5400| ZIRE
=5 380 330 330 270 210 210 150
# 15,120 13,580 11,730 9,870 9,870 7,710 7,710 5,650
BT 14,700 13,200 11,400 9,600 9,600 7,500 7,500 5400| FHE)
=5 420 380 330 270 270 210 210 150
# 15,120 13,580 13,580 11,730 9,870 9,870 7,710 7,710 5,550
]I 14,700 13,200 13,200 11,400 9,600 9,600 7,500 7,500 5400 & IR
=4 420 380 380 330 270 270 210 210 150
# 16,660 15,120 15,120 13,580 11,730 11,730 9,870 9,870 7,710 5,650
]I 16,200 14,700 14,700 13,200 11,400 11,400 9,600 9,600 7,500 5400| || 33
=4 460 420 420 380 330 330 270 270 210 150
# 17,900 16,660 16,660 15,120 13,580 13,580 11,730 11,730 9,870 7,710 5,650
BT 17,400 16,200 16,200 14,700 13,200 13,200 11,400 11,400 9,600 7500 5400 &K B
=48 500 460 460 420 380 380 330 330 270 210 150
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# 15,820
B 15390| EPRE 8 73 J%
=& 430
# 21,980 15,820
BT 21,380 15390 + 5
=& 600 430
# 28,130 21,980 15,820
B 27,360 21,380 15390| fig )l|
=8 770 600 430
# 33,440 28,130 21,980 15,820
BT 32,490 27.360 21,380 15390 2R
= %7 950 770 600 430
# 33,440 28,130 21,980 15,820 15,820
B 32,490 27,360 21,380 15,390 15390 B IR
= %7 950 770 600 430 430
# 33,440 33,440 28,130 21,980 15,820 15,820
BT 32,490 32,490 27,360 21,380 15,390 15390| B 4B
= %7 950 950 770 600 430 430
# 38,710 33,440 33,440 28,130 21,980 21,980 15,820
BT 37.620 32,490 32,490 27,360 21,380 21,380 15390 Z{RH
= %7 1,090 950 950 770 600 600 430
# 43,100 38,710 33,440 28,130 28,130 21,980 21,980 15,820
BT 41,900 37620 32,490 27,360 27,360 21,380 21,380 15390| FAEIR
= %7 1,200 1,090 950 770 770 600 600 430
# 43,100 38,710 38,710 33,440 28,130 28,130 21,980 21,980 15,820
BT 41,900 37.620 37.620 32,490 27,360 27,360 21,380 21,380 15390 & R
= %7 1,200 1,090 1,090 950 770 770 600 600 430
# 47,490 43,100 43,100 38,710 33,440 33,440 28,130 28,130 21,980 15,820
BT 46,170 41,900 41,900 37,620 32,490 32,490 27,360 27,360 21,380 15390| || 38
= %7 1,320 1,200 1,200 1,090 950 950 770 770 600 430
# 51,020 47,490 47,490 43,100 38,710 38,710 33,440 33,440 28,130 21,980| 15,820
BT 49,590 46,170 46,170 41,900 37,620 37,620 32,490 32,490 27,360 21,380| 15390 &K B
= %3 1,430 1,320 1,320 1,200 1,090 1,090 950 950 770 600 430
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# 29,970
B 29,160| EEEHE 6 73 J%
=& 810
# 41,640 29,970
BT 40,500 29160 F+ &5
= %8 1,140 810
# 53,300 41,640 29,970
B 51,840 40,500 29,160 fi4 JI|
= %7 1,460 1,140 810
# 63,350 53,300 41,640 29,970
BT 61,560 51,840 40,500 29160 £ R
=8 1,790 1,460 1,140 810
# 63,350 53,300 41,640 29,970 29,970
B 61,560 51,840 40,500 29,160 29,160 M R
=8 1,790 1,460 1,140 810 810
# 63,350 63,350 53,300 41,640 29,970 29,970
BT 61,560 61,660 51,840 40,500 29,160 29,160 Hij 4B
=8 1,790 1,790 1,460 1,140 810 810
# 73,340 63,350 63,350 53,300 41,640 41,640 29,970
BT 71,280 61,660 61,660 51,840 40,500 40,500 29,160 RIRH
=8 2,060 1,790 1,790 1,460 1,140 1,140 810
# 81,650 73,340 63,350 53,300 53,300 41,640 41,640 29,970
BT 79,380 71,280 61,660 51,840 51,840 40,500 40,500 29,160| FOIEIR
= %7 2,270 2,060 1,790 1,460 1,460 1,140 1,140 810
# 81,650 73,340 73,340 63,350 53,300 53,300 41,640 41,640 29,970
BT 79,380 71,280 71,280 61,560 51,840 51,840 40,500 40,500 29,160| &H IR
= %7 2,270 2,060 2,060 1,790 1,460 1,460 1,140 1,140 810
# 89,970 81,650 81,650 73,340 63,350 63,350 53,300 53,300 41,640 29,970
BT 87.480 79,380 79,380 71,280 61,560 61,560 51,840 51,840 40,500 29,160| J|| 38
= %7 2,490 2,270 2,270 2,060 1,790 1,790 1,460 1,460 1,140 810
# 96,660 89,970 89,970 81,650 73,340 73,340 63,350 63,350 53,300 41,640| 29,970
BT 93,960 87,480 87,480 79,380 71,280 71,280 61,560 61,560 51,840 40500 29160| K B
= %3 2,700 2,490 2,490 2,270 2,060 2,060 1,790 1,790 1,460 1,140 810
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# 2,780
BT 2,700| EREhE 1 73 J%
=& 80
# 3,860 2,780
B 3,750 2700 F* S
=& 110 80
# 4,940 3,860 2,780
R 4,800 3,750 2,700| fig 1|
=8 140 110 80
# 5870 4,940 3,860 2,780
R 5,700 4,800 3,750 2700, 2R
=8 170 140 110 80
# 5870 4,940 3,860 2,780 2,780
BT 5,700 4,800 3750 2,700 2700 B R
=% 170 140 110 80 80
# 5870 5870 4,940 3,860 2,780 2,780
BT 5,700 5,700 4,800 3,750 2,700 2,700 Hij 4B
=% 170 170 140 110 80 80
# 6,790 5870 5870 4,940 3,860 3,860 2,780
BT 6,600 5,700 5,700 4,800 3,750 3,750 2,700 RIRHE
=% 190 170 170 140 110 110 80
# 7,560 6,790 5870 4,940 4,940 3,860 3,860 2,780
BT 7.350 6,600 5,700 4,800 4,800 3,750 3,750 2,700| 78S}
=% 210 190 170 140 140 110 110 80
# 7,560 6,790 6,790 5870 4,940 4,940 3,860 3,860 2,780
BT 7.350 6,600 6,600 5,700 4,800 4,800 3,750 3,750 2700 &R
=% 210 190 190 170 140 140 110 110 80
# 8,330 7,560 7,560 6,790 5870 5870 4,940 4,940 3,860 2,780
BT 8,100 7.350 7.350 6,600 5,700 5,700 4,800 4,800 3,750 2,700| J|| 38
=% 230 210 210 190 170 170 140 140 110 80
# 8,950 8,330 8,330 7,560 6,790 6,790 5870 5870 4,940 3,860 2,780
BT 8700 8,100 8,100 7.350 6,600 6,600 5,700 5,700 4,800 3,750 2700| %k B
=% 250 230 230 210 190 190 170 170 140 110 80
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# 7,930
B 7,700 EEpE 8 73 J%
=& 230
# 11,010 7,930
BT 10,690 7700, 5
=& 320 230
# 14,080 11,010 7,930
B 13,680 10,690 7700 i )1
= %7 400 320 230
# 16,730 14,080 11,010 7,930
BT 16,250 13,680 10,690 7700 2R
= %7 480 400 320 230
# 16,730 14,080 11,010 7,930 7,930
B 16,250 13,680 10,690 7,700 7700 BH IR
= %7 480 400 320 230 230
# 16,730 16,730 14,080 11,010 7,930 7,930
BT 16,250 16,250 13,680 10,690 7,700 7,700| Bij 3B
= %7 480 480 400 320 230 230
# 19,360 16,730 16,730 14,080 11,010 11,010 7,930
BT 18810 16,250 16,250 13,680 10,690 10,690 7700 Z{RE
= %7 550 480 480 400 320 320 230
# 21,650 19,360 16,730 14,080 14,080 11,010 11,010 7,930
BT 20,950 18810 16,250 13,680 13,680 10,690 10,690 7.700| FB3E)
= %7 600 550 480 400 400 320 320 230
# 21,550 19,360 19,360 16,730 14,080 14,080 11,010 11,010 7,930
BT 20,950 18810 18810 16,250 13,680 13,680 10,690 10,690 770! &R
= %7 600 550 550 480 400 400 320 320 230
# 23,750 21,550 21,550 19,360 16,730 16,730 14,080 14,080 11,010 7,930
BT 23,090 20,950 20,950 18810 16,250 16,250 13,680 13,680 10,690 7700| J|| 538
= %7 660 600 600 550 480 480 400 400 320 230
# 25,510 23,750 23,750 21,550 19,360 19,360 16,730 16,730 14,080 11,010 7,930
BT 24,800 23,090 23,090 20,950 18810 18810 16,250 16,250 13,680 10690 7,700
= %3 710 660 660 600 550 550 480 480 400 320 230
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# 15,020
BT 14,580| EEPRE 6 73 J%
=& 440
# 20,850 15,020
B 20,250 14580 + 5
=& 600 440
# 26,680 20,850 15,020
R 25,920 20,250 14,580 fig )l|
=8 760 600 440
# 31,700 26,680 20,850 15,020
BT 30,780 25,920 20,250 14580 2R
=8 920 760 600 440
# 31,700 26,680 20,850 15,020 15,020
B 30,780 25,920 20,250 14,580 14580 M IR
=% 920 760 600 440 440
# 31,700 31,700 26,680 20,850 15,020 15,020
BT 30,780 30,780 25,920 20,250 14,680 14,580 B 4B
=% 920 920 760 600 440 440
# 36,670 31,700 31,700 26,680 20,850 20,850 15,020
BT 35,640 30,780 30,780 25,920 20,250 20,250 14880 Z{RH
=% 1,030 920 920 760 600 600 440
# 40,830 36,670 31,700 26,680 26,680 20,850 20,850 15,020
BT 39,690 35,640 30,780 25,920 25,920 20,250 20,250 14,580 FB3E)
=% 1,140 1,030 920 760 760 600 600 440
# 40,830 36,670 36,670 31,700 26,680 26,680 20,850 20,850 15,020
BT 39,690 35,640 35,640 30,780 25,920 25,920 20,250 20,250 14580 & IR
= %7 1,140 1,030 1,030 920 760 760 600 600 440
# 44,990 40,830 40,830 36,670 31,700 31,700 26,680 26,680 20,850 15,020
BT 43,740 39,690 39,690 35,640 30,780 30,780 25,920 25,920 20,250 14580| || 38
= %7 1,260 1,140 1,140 1,030 920 920 760 760 600 440
# 48,330 44,990 44,990 40,830 36,670 36,670 31,700 31,700 26,680 20,850| 15,020
BT 46,980 43,740 43,740 39,690 35,640 35,640 30,780 30,780 25,920 20250 14,580
= %3 1,360 1,260 1,260 1,140 1,080 1,080 920 920 760 600 440
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#i 4,440
B 4320 EEpE 1 73 J%
=8 120
# 6,170 4,440
BT 6,000 4320 5
= 170 120
# 7,900 6,170 4,440
R 7.680 6,000 4320 £ )1
=5 220 170 120
#; 9,380 7,900 6,170 4,440
R 9,120 7,680 6,000 4320 2R
=5 260 220 170 120
#; 9,380 7,900 6,170 4,440 4,440
R 9,120 7.680 6,000 4,320 4320 @R
=5 260 220 170 120 120
#; 9,380 9,380 7,900 6,170 4,440 4,440
R 9,120 9,120 7,680 6,000 4,320 4320 @ij 5B
= 58 260 260 220 170 120 120
# 10,860 9,380 9,380 7,900 6,170 6,170 4,440
BT 10,560 9,120 9,120 7680 6,000 6,000 4320 RIRE
= 58 300 260 260 220 170 170 120
# 12,100 10,860 9,380 7,900 7,900 6,170 6,170 4,440
BT 11,760 10,560 9,120 7680 7680 6,000 6,000 4320 @HER
= 58 340 300 260 220 220 170 170 120
# 12,100 10,860 10,860 9,380 7,900 7,900 6,170 6,170 4,440
B 11,760 10,560 10,560 9,120 7680 7680 6,000 6,000 4320 &R
= %8 340 300 300 260 220 220 170 170 120
# 13,330 12,100 12,100 10,860 9,380 9,380 7,900 7,900 6,170 4,440
B 12,960 11,760 11,760 10,560 9,120 9,120 7680 7680 6,000 4320| || 28
= %8 370 340 340 300 260 260 220 220 170 120
# 14,320 13,330 13,330 12,100 10,860 10,860 9,380 9,380 7,900 6,170 4,440
BT 13,920 12,960 12,960 11,760 10,560 10,560 9,120 9,120 7,680 6000 4320 K B
= %8 400 370 370 340 300 300 260 260 220 170 120
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# 12,660
B 12,320 EPPE 8 73 J%
=& 340
# 17,590 12,660
BT 17,100 12320 + &5
=& 490 340
# 22,520 17,590 12,660
B 21,890 17,100 12,320 fig )l|
= %7 630 490 340
# 26,740 22,520 17,590 12,660
BT 26,000 21,890 17,100 12320 2R
= %7 740 630 490 340
# 26,740 22,520 17,590 12,660 12,660
B 26,000 21,890 17,100 12,320 12320 EH IR
= %7 740 630 490 340 340
# 26,740 26,740 22,520 17,590 12,660 12,660
BT 26,000 26,000 21,890 17,100 12,320 12,320 By 4B
= %7 740 740 630 490 340 340
# 30,960 26,740 26,740 22,520 17,590 17,590 12,660
BT 30,100 26,000 26,000 21,890 17,100 17,100 12,320 Z{RH
= %7 860 740 740 630 490 490 340
# 34,490 30,960 26,740 22,520 22,520 17,590 17,590 12,660
BT 33,520 30,100 26,000 21,890 21,890 17,100 17,100 12,320| FAIEIR
= %7 970 860 740 630 630 490 490 340
# 34,490 30,960 30,960 26,740 22,520 22,520 17,590 17,590 12,660
BT 33,520 30,100 30,100 26,000 21,890 21,890 17,100 17,100 12320 & R
= %7 970 860 860 740 630 630 490 490 340
# 38,000 34,490 34,490 30,960 26,740 26,740 22,520 22,520 17,590 12,660
BT 36,940 33,520 33,520 30,100 26,000 26,000 21,890 21,890 17,100 12,320| || 38
= %7 1,060 970 970 860 740 740 630 630 490 340
# 40,820 38,000 38,000 34,490 30,960 30,960 26,740 26,740 22,520 17,590 12,660
BT 39,680 36,940 36,940 33,520 30,100 30,100 26,000 26,000 21,890 17,100 12320 K B
= %3 1,140 1,060 1,060 970 860 860 740 740 630 490 340
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# 23,980
B 23,330 EEEhE 6 73 J%
=& 650
# 33,320 23,980
BT 32,400 23330 5
=& 920 650
# 42,660 33,320 23,980
B 41,480 32,400 23330 fi4 )l
=8 1,180 920 650
# 50,660 42,660 33,320 23,980
BT 49,250 41,480 32,400 23330 £ R
=% 1,410 1,180 920 650
# 50,660 42,660 33,320 23,980 23,980
B 49,250 41,480 32,400 23,330 23330 M R
=% 1,410 1,180 920 650 650
# 50,660 50,660 42,660 33,320 23,980 23,980
BT 49,250 49,250 41,480 32,400 23,330 23,330 Hij 4B
=% 1,410 1,410 1,180 920 650 650
# 58,650 50,660 50,660 42,660 33,320 33,320 23,980
BT 57,030 49,250 49,250 41,480 32,400 32,400 23330 RIRH
=% 1,620 1,410 1,410 1,180 920 920 650
# 65,340 58,650 50,660 42,660 42,660 33,320 33,320 23,980
BT 63510 57,030 49,250 41,480 41,480 32,400 32,400 23,330| FOEIR
=% 1,830 1,620 1,410 1,180 1,180 920 920 650
# 65,340 58,650 58,650 50,660 42,660 42,660 33,320 33,320 23,980
BT 63510 57,030 57,030 49,250 41,480 41,480 32,400 32,400 23330 & IR
=% 1,830 1,620 1,620 1,410 1,180 1,180 920 920 650
# 71,990 65,340 65,340 58,650 50,660 50,660 42,660 42,660 33,320 23,980
BT 69,990 63510 63510 57,030 49,250 49,250 41,480 41,480 32,400 23330 J|| 38
=% 2,000 1,830 1,830 1,620 1,410 1,410 1,180 1,180 920 650
# 77,330 71,990 71,990 65,340 58,650 58,650 50,660 50,660 42,660 33,320| 23,980
BT 75,170 69,990 69,990 63510 57,030 57,030 49,250 49,250 41,480 32,400 23330| K B
=% 2,160 2,000 2,000 1,830 1,620 1,620 1,410 1,410 1,180 920 650
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E37) 20,590 15,830 13,240 11,610 11,940 25,530 27,820
EREhE R T 20,020 15,390 12,870 11,290 11,610 24,820 27,050
=5 570 440 370 320 330 710 770
£ 22,970 18210 15,620 13,990 14,320 27,910 30,200
FS R 22,330 17,700 15,180 13,600 13,920 27,130 29,360
= 2E 640 510 440 390 400 780 840
E37] 25,340 20,580 17,990 16,360 16,690 30,280 32,570
& I R 24,640 20,010 17,490 15910 16,230 29,440 31,670
=5 700 570 500 450 460 840 900
£ 27,380 22,620 20,030 18,400 18730 32,320 34,610
2R RT 26,620 21,990 19,470 17,890 18,210 31,420 33,650
E2F 760 630 560 510 520 900 960
E37] 27,380 22,620 20,030 18,400 18,730 32,320 34,610
i R R T 26,620 21,990 19,470 17,890 18,210 31,420 33,650
=5 760 630 560 510 520 900 960
£ 27,380 22,620 20,030 18,400 18730 32,320 34,610
a1 8B RT 26,620 21,990 19,470 17,890 18210 31,420 33,650
E2F 760 630 560 510 520 900 960
o 29,410 24,650 22060 20430 20760| 34,350 36640
2IRH R T 28,600 23,970 21,450 19,870 20,190 33,400 35,630
=5 810 680 610 560 570 950 1,010
£ 31,110 26,350 23,760 22,130 22,460 36,050 38,340
mER R T 30,250 25,620 23,100 21,520 21,840 35,050 37,280
E 5 860 730 660 610 620 1,000 1,060
3] 31,110 26,350 23,760 22,130 22,460 36,050 38,340
SR B 30,250 25,620 23,100 21,520 21,840 35,050 37,280
=2 860 730 660 610 620 1,000 1,060
E37) 32,810 28,050 25,460 23,830 24,160 37,750 40,040
JI| 58 R T 31,900 27,270 24,750 23,170 23,490 36,700 38,930
£ 910 780 710 660 670 1,050 1,110
3] 34,170 29,410 26,820 25,190 25,520 39,110 41,400
X8 R 33,220 28,590 26,070 24,490 24,810 38,020 40,250
=5 950 820 750 700 710 1,090 1,150
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E37) 58,700 45,120 37,730 33,130 34,040 72,780 79,330
P=dik=) BfA 57,060 43,860 36,680 32,200 33,090 70,750 77.120
= 55 1,640 1,260 1,050 930 950 2,030 2,210
E37) 65,480 51,900 44,510 39,910 40,820 79,560 86,110
FS "I 63,650 50,450 43,270 38,790 39,680 77,340 83,710
= 55 1,830 1,450 1,240 1,120 1,140 2,220 2,400
E37) 72,240 58,660 51,270 46,670 47,580 86,320 92,870
86 )1l R 70,230 57,030 49,850 45,370 46,260 83,920 90,290
= 58 2,010 1,630 1,420 1,300 1,320 2,400 2,580
E37] 78,050 64,470 57,080 52,480 53,390 92,130 98,680
2R RT 75,870 62,670 55,490 51,010 51,900 89,560 95,930
= 58 2,180 1,800 1,590 1,470 1,490 2,570 2,750
E37] 78,050 64,470 57,080 52,480 53,390 92,130 98,680
R RT 75,870 62,670 55,490 51,010 51,900 89,560 95,930
= 58 2,180 1,800 1,590 1,470 1,490 2,570 2,750
E37] 78,050 64,470 57,080 52,480 53,390 92,130 98,680
Bl 38 IR 7 75,870 62,670 55,490 51,010 51,900 89,560 95,930
= 55 2,180 1,800 1,590 1,470 1,490 2,570 2,750
E37] 83,840 70,260 62,870 58,270 59,180 97,920 104,470
Z{RH "I 81,520 68,320 61,140 56,660 57,5650 95,210 101,580
= 55 2,320 1,940 1,730 1,610 1,630 2,710 2,890
E37] 88,680 75,100 67,710 63,110 64,020 102,760 109,310
ER RT 86,220 73,020 65,840 61,360 62,250 99,910 106,280
= 55 2,460 2,080 1,870 1,750 1,770 2,850 3,030
3] 88,680 75,100 67,710 63,110 64,020 102,760 109310
TR BT 86,220 73,020 65,840 61,360 62,250 99,910 106,280
= 55 2,460 2,080 1,870 1,750 1,770 2,850 3,030
3] 93,530 79,950 72,560 67,960 68870 107,610 114,610
JII 38 R 90,920 77,720 70,540 66,060 66,950 104,610 110,980
= 55 2,610 2,230 2,020 1,900 1,920 3,000 3,630
£l 97,400 83,820 76,430 71,830 72,740 111,480 118,030
x B R 94,680 81,480 74,300 69,820 70,710 108,370 114,740
= 45 2,720 2,340 2,130 2,010 2,030 3,110 3,290
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B3] 104,540 79,660 67,210 59,430 61,000 129430| 141,860
P=dik=) BfA 101,630 77,440 65,340 57,780 59,300 125,830 137,920
x4 2,910 2,220 1,870 1,650 1,700 3,600 3.940
B3] 117,390 92,510 80,060 72,280 73,850 142,280| 154,710
FS RBa 114,100 89,910 77.810 70,250 71,770 138,300 150,390
x4 3,290 2,600 2,250 2,030 2,080 3,980 4,320
B3] 130,190| 105310 92,860 85,080 86,650 155080| 167,510
fis )| BT 126,580 102,390 90,290 82,730 84,250 150,780 162,870
x4 3610 2,920 2,570 2,350 2,400 4,300 4,640
£ 141,200 116,320 103,870 96,090 97,660 166,090| 178,520
BiR BT 137,270 113,080 100,980 93,420 94,940 161,470 173,560
x4 3930 3,240 2,890 2,670 2,720 4,620 4,960
£ 141,200 116,320 103,870 96,090 97,660 166,090| 178,520
g iR BT 137,270 113,080 100,980 93,420 94,940 161,470 173,560
x4 3930 3,240 2,890 2,670 2,720 4,620 4,960
£ 141,200 116,320 103,870 96,090 97,660 166,090, 178,520
1 BB BT 137,270 113,080 100,980 93,420 94,940 161,470 173,560
= 58 3930 3240 2,890 2,670 2,720 4,620 4,960
£ 152,170 127,290| 114,840 107,060| 108,630 177,060| 189490
Z{RH BT 147,960 123,770 111,670 104,110 105,630 172,160 184,250
3= &7 4210 3,520 3170 2,950 3,000 4,900 5240
£ 161,350 136,470| 124,020 116,240| 117,810 186,240| 198,670
SR BT 156,870 132,680 120,580 113,020 114,540 181,070 193,160
x5 4,480 3,790 3440 3220 3270 5170 5510
b4 161,350 136,470| 124,020 116,240| 117,810 186,240| 198,670
TR B 156,870 132,680 120,580 113,020 114,540 181,070 193,160
x5 4,480 3,790 3440 3220 3270 5170 5510
b4 170,530 145650| 133,200 125420| 126,990 195420| 207,850
JII 52 BT 165,780 141,590 129,490 121,930 123,450 189,980 202,070
] 4,750 4,060 3710 3490 3540 5,440 5,780
b4 177,870 152,990| 140540 132,760| 134,330 202,760| 215,190
X8 BT 172,910 148,720 136,620 129,060 130,580 197,110 209,200
= %7 4,960 4270 3920 3,700 3,750 5,650 5,990
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SR JR 2 & A CBR 78 BERES E mme
E37) 12,980 12,570 10,950 8,830 9,440 13,740 14,910
P=dik=) BfA 12,620 12,230 10,650 8,590 9,180 13,370 14,490
= 55 360 340 300 240 260 370 420
E37) 15,140 14,730 13,110 10,990 11,600 15,900 17,070
FS "I 14,720 14,330 12,750 10,690 11,280 15,470 16,590
= 58 420 400 360 300 320 430 480
E37] 17,300 16,890 15,270 13,150 13,760 18,060 19,230
86 )1l R 16,820 16,430 14,850 12,790 13,380 17,570 18,690
= 58 480 460 420 360 380 490 540
E37] 19,160 18,750 17,130 15,010 15,620 19,920 21,090
2R RT 18,620 18,230 16,650 14,590 15,180 19,370 20,490
= 58 540 520 480 420 440 550 600
E37] 19,160 18,750 17,130 15,010 15,620 19,920 21,090
# R RT 18,620 18,230 16,650 14,590 15,180 19,370 20,490
= 55 540 520 480 420 440 550 600
E37] 19,160 18,750 17,130 15,010 15,620 19,920 21,090
Bl 38 IR 7 18,620 18,230 16,650 14,590 15,180 19,370 20,490
= 55 540 520 480 420 440 550 600
E37] 21,010 20,600 18,980 16,860 17,470 21,770 22,940
Z{RH "I 20,420 20,030 18,450 16,390 16,980 21,170 22,290
= 55 590 570 530 470 490 600 650
3] 22,550 22,140 20,520 18,400 19,010 23,310 24,480
&R BT 21,920 21,530 19,950 17,890 18,480 22,670 23,790
= 55 630 610 570 510 530 640 690
3] 22,550 22,140 20,520 18,400 19,010 23,310 24,480
TR BT 21,920 21,530 19,950 17,890 18,480 22,670 23,790
= 55 630 610 570 510 530 640 690
£l 24,090 23,680 22,060 19,940 20,550 24,850 26,020
Il 38 R 23,420 23,030 21,450 19,390 19,980 24,170 25,290
= 45 670 650 610 550 570 680 730
i 25,330 24,920 23,300 21,180 21,790 26,090 27,260
x B R 24,620 24,230 22,650 20,590 21,180 25,370 26,490
= 45 710 690 650 590 610 720 770
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SR JR 2 & A CBR 78 PRES E mme
E37) 37,010 35,850 31,230 25,180 26,920 39,200 42,490
P=dik=) BfA 36,000 34,860 30,370 24,490 26,190 38,120 41,320
=5 1,010 990 860 690 730 1,080 1,170
E37) 43,170 42,010 37,390 31,340 33,080 45,360 48,650
FS "I 41,990 40,850 36,360 30,480 32,180 44,110 47,310
=5 1,180 1,160 1,030 860 900 1,250 1,340
E37] 49,320 48,160 43,540 37,490 39,230 51,510 54,800
86 )1l R 47,970 46,830 42,340 36,460 38,160 50,090 53,290
=5 1,350 1,330 1,200 1,030 1,070 1,420 1,510
E37] 54,630 53,470 48,850 42,800 44,540 56,820 60,110
2R RaT 53,100 51,960 AT.470 41,590 43,290 55,220 58,420
=5 1,630 1,610 1,380 1,210 1,250 1,600 1,690
E37] 54,630 53,470 48,850 42,800 44,540 56,820 60,110
# R RT 53,100 51,960 4AT,470 41,590 43,290 55,220 58,420
=5 1,630 1,610 1,380 1,210 1,250 1,600 1,690
E37] 54,630 53,470 48,850 42,800 44,540 56,820 60,110
a1 8B IR 7 53,100 51,960 47,470 41,590 43,290 55,220 58,420
=5 1,630 1,610 1,380 1,210 1,250 1,600 1,690
E37] 59,900 58,740 54,120 48,070 49,810 62,090 65,380
Z{RH "I 58,230 57,090 52,600 46,720 48,420 60,350 63,550
=5 1,670 1,650 1,620 1,350 1,390 1,740 1,830
3] 64,290 63,130 58,510 52,460 54,200 66,480 69,770
&R BT 62,510 61,370 56,880 51,000 52,700 64,630 67,830
=5 1,780 1,760 1,630 1,460 1,500 1,850 1,940
3] 64,290 63,130 58,510 52,460 54,200 66,480 69,770
TR BT 62,510 61,370 56,880 51,000 52,700 64,630 67,830
=5 1,780 1,760 1,630 1,460 1,500 1,850 1,940
£l 68,680 67,520 62,900 56,850 58,590 70,870 74,160
Il 38 R 66,780 65,640 61,150 55,270 56,970 68,900 72,100
=5 1,900 1,880 1,750 1,580 1,620 1,970 2,060
3] 72,210 71,050 66,430 60,380 62,120 74,400 77,690
x B R 70,200 69,060 64,570 58,690 60,390 72,320 75,520
=5 2,010 1,990 1,860 1,690 1,730 2,080 2,170
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E37) 70,120 67,920 59,150 47,720 51,020 74,270 80,520
P=dik=) RO 68,200 66,060 57,530 46,420 49,620 72,230 78,300
= %F 1,920 1,860 1,620 1,300 1,400 2,040 2,220
E37) 81,790 79,590 70,820 59,390 62,690 85,940 92,190
FS BRI 79,540 77,400 68,870 57,760 60,960 83,570 89,640
= %7 2,250 2,190 1,950 1,630 1,730 2,370 2,550
E37] 93,450 91,250 82,480 71,050 74,350 97,600 103,850
86 )1l R 90,880 88,740 80,210 69,100 72,300 94,910 100,980
= %7 2,570 2,510 2,270 1,950 2,050 2,690 2,870
E37] 103,500 101,300 92,530 81,100 84,400 107,650 113,900
2R BT 100,600 98,460 89,930 78,820 82,020 104,630 110,700
= %7 2,900 2,840 2,600 2,280 2,380 3020 3.200
E37] 103,500 101,300 92,530 81,100 84,400 107,650 113,900
g iR BT 100,600 98,460 89,930 78,820 82,020 104,630 110,700
3= &7 2,900 2,840 2,600 2,280 2,380 3020 3.200
E37] 103,500 101,300 92,530 81,100 84,400 107,650 113,900
B 4B BT 100,600 98,460 89,930 78,820 82,020 104,630 110,700
3= &7 2,900 2,840 2,600 2,280 2,380 3020 3.200
E37] 113,490 111,290 102,520 91,090 94,390 117,640| 123,890
Z{RH BT 110,320 108,180 99,650 88,540 91,740 114,350 120,420
3= &7 3170 3110 2870 2,550 2,650 3,290 3470
3] 121,800 119,600( 110,830 99,400 102,700 125950| 132,200
FaER BI 118420 116,280 107,750 96,640 99,840 122,450 128,520
= %7 3380 3320 3,080 2,760 2,860 3,500 3.680
3] 121,800 119,600( 110,830 99,400 102,700 125950| 132,200
TR BI 118420 116,280 107,750 96,640 99,840 122,450 128,520
= %7 3380 3320 3,080 2,760 2,860 3,500 3.680
£l 130,120| 127,920 119,150 107,720 111,020 134,270| 140,520
JIl 38 BT 126,520 124,380 115,850 104,740 107,940 130,550 136,620
= %7 3.600 3540 3.300 2,980 3.080 3,720 3.900
i 136,810 134,610| 125840 114410| 117,710 140,960| 147,210
X8 R 133,000 130,860 122,330 111,220 114,420 137,030 143,100
= %7 3810 3,750 3510 3.190 3.290 3.930 4,110
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E37) 13,810 13,360 11,560 9,200 9,880 14,660 15,950
P=dik=) RO 13,430 12,990 11,240 8,950 9,610 14,260 15510
= 55 380 370 320 250 270 400 440
E37) 15,970 15,520 13,720 11,360 12,040 16,820 18,110
FS "I 15,530 15,090 13,340 11,050 11,710 16,360 17,610
= 58 440 430 380 310 330 460 500
E37] 18,130 17,680 15,880 13,520 14,200 18,980 20,270
86 )1l R 17,630 17,190 15,440 13,150 13,810 18,460 19,710
= 58 500 490 440 370 390 520 560
E37] 19,990 19,540 17,740 15,380 16,060 20,840 22,130
2R RT 19,430 18,990 17,240 14,950 15,610 20,260 21,510
= 58 560 550 500 430 450 580 620
E37] 19,990 19,540 17,740 15,380 16,060 20,840 22,130
# R RT 19,430 18,990 17,240 14,950 15,610 20,260 21,510
= 55 560 550 500 430 450 580 620
E37] 19,990 19,540 17,740 15,380 16,060 20,840 22,130
Bl 38 IR 7 19,430 18,990 17,240 14,950 15,610 20,260 21,510
= 55 560 550 500 430 450 580 620
E37] 21,840 21,390 19,590 17,230 17,910 22,690 23,980
Z{RH "I 21,230 20,790 19,040 16,750 17,410 22,060 23,310
= 55 610 600 550 480 500 630 670
3] 23,380 22,930 21,130 18,770 19,450 24,230 25,520
&R BT 22,730 22,290 20,540 18,250 18910 23,560 24,810
= 55 650 640 590 520 540 670 710
3] 23,380 22,930 21,130 18,770 19,450 24,230 25,520
TR BT 22,730 22,290 20,540 18,250 18910 23,560 24,810
= 55 650 640 590 520 540 670 710
£l 24,920 24,470 22,670 20,310 20,990 25,770 27,060
Il 38 R 24,230 23,790 22,040 19,750 20,410 25,060 26,310
= 45 690 680 630 560 580 710 750
i 26,160 25,710 23910 21,550 22,230 27,010 28,300
x B R 25,430 24,990 23,240 20,950 21,610 26,260 27510
= 45 730 720 670 600 620 750 790
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E37) 39,370 38,080 32,950 26,230 28,160 41,800 45,460
P=dik=) BfA 38,290 37,030 32,040 25510 27,390 40,650 44,210
= 55 1,080 1,050 910 720 770 1,150 1,250
E37) 45,530 44,240 39,110 32,390 34,320 47,960 51,620
FS "I 44,280 43,020 38,030 31,500 33,380 46,640 50,200
= 58 1,250 1,220 1,080 890 940 1,320 1,420
E37] 51,680 50,390 45,260 38,540 40,470 54,110 57,770
b )1l "a 50,260 49,000 44,010 37,480 39,360 52,620 56,180
= 58 1,420 1,390 1,250 1,060 1,110 1,490 1,590
E37] 56,990 55,700 50,570 43,850 45,780 59,420 63,080
2R "a 55,390 54,130 49,140 42,610 44,490 57,750 61,310
= 58 1,600 1,570 1,430 1,240 1,290 1,670 1,770
E37] 56,990 55,700 50,570 43,850 45,780 59,420 63,080
# R T 55,390 54,130 49,140 42,610 44,490 57,750 61,310
= 55 1,600 1,570 1,430 1,240 1,290 1,670 1,770
E37] 56,990 55,700 50,570 43,850 45,780 59,420 63,080
Bl 38 IR 7 55,390 54,130 49,140 42,610 44,490 57,750 61,310
= 55 1,600 1,570 1,430 1,240 1,290 1,670 1,770
E37] 62,260 60,970 55,840 49,120 51,050 64,690 68,350
Z{RH "I 60,520 59,260 54,270 47,740 49,620 62,880 66,440
= 55 1,740 1,710 1,570 1,380 1,430 1,810 1,910
3] 66,650 65,360 60,230 53,510 55,440 69,080 72,740
&R BT 64,800 63,540 58,550 52,020 53,900 67,160 70,720
= 55 1,850 1,820 1,680 1,490 1,540 1,920 2,020
3] 66,650 65,360 60,230 53,510 55,440 69,080 72,740
TR BT 64,800 63,540 58,550 52,020 53,900 67,160 70,720
= 55 1,850 1,820 1,680 1,490 1,540 1,920 2,020
£l 71,040 69,750 64,620 57,900 59,830 73,470 77,130
Il 38 R 69,070 67.810 62,820 56,290 58,170 71,430 74,990
= 45 1,970 1,940 1,800 1,610 1,660 2,040 2,140
i 74,570 73,280 68,150 61,430 63,360 77,000 80,660
x B R 72,490 71,230 66,240 59,710 61,590 74,850 78410
= 45 2,080 2,050 1,910 1,720 1,770 2,150 2,250
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E37) 74,590 72,140 62,400 49,700 53,360 79,200 86,140
P=dik=) RO 72,540 70,160 60,690 48,340 51,900 77,020 83,770
= %F 2,050 1,980 1,710 1,360 1,460 2,180 2,370
E37) 86,260 83,810 74,070 61,370 65,030 90,870 97,810
FS BRI 83,880 81,500 72,030 59,680 63,240 88,360 95,110
= %7 2,380 2,310 2,040 1,690 1,790 2,510 2,700
E37] 97,920 95,470 85,730 73,030 76,690 102,530 109470
86 )1l R 95,220 92,840 83,370 71,020 74,580 99,700 106,450
= %7 2,700 2,630 2,360 2,010 2,110 2,830 3020
E37] 107,970 105520 95,780 83,080 86,740 112,580| 119520
2R BT 104.940 102,560 93,090 80,740 84,300 109,420 116,170
= %7 3030 2,960 2,690 2,340 2,440 3160 3.350
E37] 107,970 105520 95,780 83,080 86,740 112,580| 119520
g iR BT 104.940 102,560 93,090 80,740 84,300 109,420 116,170
3= &7 3.030 2,960 2,690 2,340 2,440 3,160 3.350
E37] 107,970 105,520 95,780 83,080 86,740 112,580| 119520
B 4B BT 104.940 102,560 93,090 80,740 84,300 109,420 116,170
3= &7 3.030 2,960 2,690 2,340 2,440 3,160 3.350
E37] 117,960 115510 105,770 93,070 96,730 122570 129510
Z{RH BT 114,660 112,280 102,810 90,460 94,020 119,140 125,800
3= &7 3.300 3.230 2,960 2,610 2,710 3430 3620
3] 126,270 123820 114,080 101,380 105040 130880| 137,820
FaER BI 122,760 120,380 110,910 98,560 102,120 127,240 133,990
= %7 3510 3440 3170 2,820 2,920 3,640 3.830
3] 126,270 123820 114,080 101,380 105040 130,880| 137,820
TR BI 122,760 120,380 110,910 98,560 102,120 127,240 133,990
= %7 3510 3440 3170 2,820 2,920 3,640 3.830
£l 134,590| 132,140 122,400 109,700 113360 139200| 146,140
JIl 38 BT 130,860 128,480 119,010 106,660 110,220 135,340 142,090
= %7 3,730 3.660 3.390 3.040 3.140 3.860 4,050
i 141,280| 138830| 129090 116,390| 120,050 145890| 152,830
X8 R 137,340 134,960 125,490 113,140 116,700 141,820 148,570
= %7 3.940 3.870 3.600 3.250 3.350 4,070 4,260




